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* 24| £ R— AR EE% SHAFEIRFHE 3.600 A 24,360 87,696
* 26| hH<T SHAFEIRFHE 5.000 A 24,045 120,225
* 25| IUMEEE T SHAFEIRFHE 13.500 A 23,310 314,685
100058 #t & MNEERBIIHTHENE 13.000 % 522,606 67,939
i A - 4B 8K LU E 1,666,205
= {iff 1.0 m2&Y) 16,662
BlDORNFHEEDELE 5,226
BilDQABRMEDOEEE 10,757
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¢ 300 [LUARELEHT = %0 58 = Al 431 1m

B {fiNo £ G R % B = B B &® % & =

563|FEEIE{LE ——)LE(VU) IE42300 D318 X19.2mm 1.000 m 4,010 4,010

219|0F LR 4.0mm (# 8) 0.300 Kg 181 54

25| LLUAARLFH T SHAEIAFHE 0.050 A 23,310 1,166

i A - 4B 8K LU E 5,230

= {iff 1.0 m¥Y) 5,230

BlDORNFHEEDELE 1,166

BilDQABRMEDOEEE 4,064
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AR B T = %0 58 =50 431 10 1@

B {fiNo £ G R % B = B B &® % & =

25| LLUAARLFH T SHAEIAFHE 0.750 A 23,310 17,483

2877| RERTYT 30SW-RF 10.000 & 2,770 27,700

i A - 4B 8K LU E 45,183

= {iff 1.0 EZY 4518

BlDORNFHEEDELE 1,748

BilDQABRMEDOEEE 2,770
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B {fiNo £ G R % B = B B & ] & =

8005[#&:5A (JL—X)(BHO.10m3 ) [T/ Swr— Hifist E5 8 1.000 m3 1,549 1,549

i A - 4B 8K LU E 1,549
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B {fiNo £ G R % B = B B & ] & =

5806 [)L—X A B BB +-#htE+ - BB 1 |0.8BH JL—X LithsA LA SERIT 1.000 m3 377 377

4463|452 /1 \§EE T ()  |60~80kg 1.000 m3 1412 1,412

i A - 4B 8K LU E 1,789

= {iff 1.0 m3&Y) 1,789

BlDORNFHEEDELE 1,491

BilDQABRMEDOEEE 0
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5806 [)L—X A B BB +-#htE+ - BB 1 |0.8BH JL—X LithsA LA SERIT 1.000 m3 377 377

i A - 4B 8K LU E 377
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ELED




B £ Bl =

6141 |= /T (1) EILHFMEEE KE
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
Ja3-4 | #hiE L B 35°KiE = Al 58 =% 431 10 m
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55814k -Hitk [BRHERER] ()  |[1mid ¥ 3TELY 2.000 X 4,895 9,790
25| IUAAEPBA T SI4FIAFE 0.060 A 23,310 1,399 | ERRAEH L IF
25| IUAEPBA T SH4FEIRFHE 0.080 A 23,310 1,865 |Beeg 44480 3mBs ~ B +]
A - 4B 8K LU E 13,054
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BlDORNFHEEDELE 1,305
BilDQABRMEDOEEE 0

ELED




B £ Bl =

6153

T o5%kE] ()

EILHFMEEE KE
—ne BB Ao JAyy HJJ0vY FpA:=Ei
4H = 50 58 =450 431 10 m
H{fiNo £ G R % B = B I B &® % & =
978| X M5 (R#ELIA) 62 X 48cm (PE) 110.400 " 17 1,877
2875| E=—)L JE=0.1mm 1§90~ 180cm 13.000 m?2 95 1,235
25| UMD EE T SH4FEIRFHE 4.030 A 23,310 93,939
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563|FEEIE{LE ——)LE(VU) IE42300 D318 X19.2mm 2.000 m 4,010 8,020/10.0m X 0.20=2.0
271771 % # () L=3.6m~4.0m E=14cm~16cm 0.060 m3 13,800 828]0.377m3 X 0.15=0.06
2773| IEEN#4 (%2) 40m x45 % 45cm 0.040 m3 103,000 4,120[0.250m3 x 0.15=0.04
219|0F LR 4.0mm (# 8) 13.590 Kg 181 2,460
25| LLUAARLFH T SHAEIAFHE 4.140 A 23,310 96,503| X R T /A TE4t
i A - 4B 8K LU E 111,931
= {iff 1.0 m¥Y) 11,193
BlDORNFHEEDELE 9,650
BilDQABRMEDOEEE 1,543
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B {fiNo £ G R % B = B B £ B & =

13:E#5F (Fr5%) SHAEIRFHE 0.680 A 22,785 15,494
9|8  H 43.000 L 142 6,106
2459 |\ )Ry BRIV —U1E] 1L1F%0.8m3[0.6m3] & BE 512.9t 1.000 #tAEH 11,544 11,544
i A - 4B 8K LU E 33,144
= {iff 1.0 H&Y 33,144
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24| T R— AR S5 SH4FEIRFHE 0.500 24,360 12,180
25| IUAAEPBA T SHAFEIRFHE 1.000 23,310 23,310
6165 | y)fyBERIL—VAHIGRY FHRAT - #1Z5) | Wig0.8m3 KU FEM -BER H29t 0.500 33,144 16,572
i A - 4B 8K LU E 52,062
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* 1|3 EEXE SH4FEIRFHE 0.140 A 22,155 3,102
x 2527 REIREHEN T 14—+ JL 5.0KVA 1.100| #tAH 1,310 1,441
* 99(8% M 7.900 L 142 1,122

100038 # % WNEEEEICHTHEE 10.000 % 5,665 567

i A - 4B 8K LU E 6,232
= {iff 1.0 H&Y 6,232
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BilDQABRMEDOEEE 0
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AR B T = %0 58 =50 431 1m
B {fiNo £ G R % B = B B £ B & =
5463| 1L KIRERE (D 1.000 m 2,596 2,596
2923| 1k JKRUEE) UC 300 X 7mm 1.070 m 2,430 2,600
A - 4B 8K LU E 5,196
= {iff 1.0 m¥Y) 5,196
BlDORNFHEEDELE 2,596
BilDQABRMEDOEEE 2,600
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B {fiNo £ G R % B = B B £ B & =

24| T R— AR S5 SHAEIAFE 0.050 A 24,360 1,218
25| IUAAEPBA T SHAFEIRFHE 0.290 A 23,310 6,760
524|H #h#t (BB E1R) JE10mm 11.200 m2 1,710 19,152
i A - 4B 8K LU E 27,130

= {iff 1.0 m2&Y) 2,713

BlDORNFHEEDELE 798

BilDQABRMEDOEEE 1,915
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B {fiNo £ G R % B = B B & ] & =
53458 A 1)BIEAI [7'L—h] (3£) [BH=0.60m3 jhE1300Kekk 1.000 m3 1,879 1,879
5806|/L—X#E5A B-FE -5 -8 1 |0.8BH JL—X LUHA LA SERT 1.000 m3 377 377
A - 4B 8K LU E 2,256
= {iff 1.0 m3&Y) 2,256
BlDORNFHEEDELE 554
BilDQABRMEDOEEE 0
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5787 [HEEITEIA SR - EA - T aA|0.8BH Ll LhALLA SERT 1.000 m3 523 523
5349 |En A BT [7'L—h] (3£) [BH=0.60m3 3HiF 3t 1300Ke#k 0.050 m3 3,432 172 | B R 3R5%
i A - 4B 8K LU E 695
= {iff 1.0 m3&Y) 695
BiORNFTHEEDEE 211
BilDQABRMEDOEEE 0
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no [ Ao JAyy HJJ0vY FpA:=Ei
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H{fiNo £ G R % B = B B &® % & =
6234|805 I BIEHI 0.6m3 ;ERIT LA 1L (A) 90.100 m3 2,256 203,266
5384| 5 & B ® (L) 71.900 m?2 1,399 100,588
702018 5 & L E ) (9—79L-v4E F)|0.6m3 (1L1) 2.900 m3 6,222 18,044
7021|388 R LR E 8)(Y0—-35L-VE ) [0.6m3 (1) 0.500 m3 4,810 2,405
6129|1BHRLGHE BN IR {EA [0.6m3 (L) 4.700 m3 1,789 8,408
6078 IEHRELEEE )N v HoER [0.1m3 (1) 35.500 m3 1,549 54,990\ 1F T _EFR 48l
61301 O RLERE )N v A 0.6m3 (L) 0.800 m3 377 302
7012|5% L AnE8 0.6m3 (1) 59.400 m3 754 44,788
i A - 4B 8K LU E 432,791
= 1.0 m3&Y) 4803
BlDORNFHEEDELE 2,314
BN BMEDOEEE 57
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H{fiNo £ G R % B = B B &® % & =
6235|558 - EREHI 0.6m3 ;ERIT LA 1L (A) 172.600 m3 695 119,957
5375| A N iEHEIm B # () |A®-FR 18.000 m2 844 15,192
702018 5 & L E ) (9—79L-v4E F)|0.6m3 (1L1) 5.400 m3 6,222 33,599
7021|388 R LR E 8)(Y0—-35L-VE ) [0.6m3 (1) 0.800 m3 4,810 3,848
6129|1BHRLGHE BN IR {EA [0.6m3 (L) 8.700 m3 1,789 15,564
6078 IEHRELEEE )N v HoER [0.1m3 (1) 66.000 m3 1,549 102,234 1E T _E 7481
61301 O RLERE )N v A 0.6m3 (L) 1.600 m3 377 603
7012|5% L AnE8 0.6m3 (1) 108.100 m3 754 81,507
i A - 4B 8K LU E 372,504
= {iff 1.0 m3&Y) 2,158
BlDORNFHEEDELE 1,091
BN BMEDOEEE 55
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0.6m3 ;ERIT Lh;a 1L (A) = Al 58 =40 431 177.4 m3
H{fiNo £ G R % B = B I B &® % & =
5786 |{EEITE:A Fb-FbE £ -4t £ - B £ [0.8BH Hul LidhiAILA ERIT | 177.400 m3 400 70,960
5373| A N IEHIm B # () [FhtEL B+ 3.000 m2 634 1,902
702018 5 & L E ) (9—79L-v4E F)|0.6m3 (1L1) 5.500 m3 6,222 34,221
7021|388 R LR E 8)(Y0—-35L-VE ) [0.6m3 (1) 0.800 m3 4,810 3,848
6129|1BHRLGHE BN IR {EA [0.6m3 (L) 8.900 m3 1,789 15,922
6078 IEHRELEEE )N v HoER [0.1m3 (1) 67.600 m3 1,549 104,712 1 T _E 748
61301 O RLERE )N v A 0.6m3 (L) 1.900 m3 377 716
7012|5% L AnE8 0.6m3 (L) 111.200 m3 754 83,845
i A - 4B 8K LU E 316,126
= {iff 1.0 m3&Y) 1,782
BlDORNFHEEDELE 933
BN BMEDOEEE 55
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| EILHFMEEE KE
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#£1-2-3)|16cmil E22cmEE (LLAMEPFHFT) = %0 58 = %0 431 100 A&
H{fiNo £ G R % B = B B &® % & =
* 1|3 EEXE SH4FEIRFHE 0.420 A 22,155 9,305
* 25| IUMBEE T SHAFEIRFHE 0.420 A 23,310 9,790
100058 #t & MNEEREIIHTHENE 6.000 % 19,095 1,146
A - 4B 8K LU E 20,241
= {iff 1.0 KLY 202
BiORNFTHEEDEE 191
HilORAEBEMEDOEEE 0
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B {fiNo £ G R % B = B B & ] & =
* 1|3 EEXE SH4FEIRFHE 0.520 A 22,155 11,521
* 25| IUMEPBE T SHAEIAFHE 0.520 A 23,310 12,121

100058 #t & MNEEREIIHTHENE 6.000 % 23,642 1419

A - 4B 8K LU E 25,061
= {iff 1.0 KLY 251
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BilDQABRMEDOEEE 0
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B {fiNo £ G R % B = B B &® % & =
* 1|3 EEXE SH4FEIRFHE 0.630 A 22,155 13,958
* 25| IUMEPBE T SHAEIAFHE 0.630 A 23,310 14,685
100058 #t & MNEEREIIHTHENE 6.000 % 28,643 1,719
i A - 4B 8K LU E 30,362
= {iff 1.0 KLY 304
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BilDQABRMEDOEEE 0
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H{fiNo £ G R % B = B I B &® % & =
* 1|3 EEXE SH4FEIRFHE 0.280 A 22,155 6,203
* 25| IUMBEE T SHAFEIRFHE 0.280 A 23,310 6,527
100058 #t & MNEEREIIHTHENE 8.000 % 12,730 1,018
A - 4B 8K LU E 13,748
= {iff 1.0 KLY 137
BlDORNFHEEDELE 127
HilORAEBEMEDOEEE 0
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#£1-2-3)|22cmil E28cmEE (LLAMEPFHT) = A&l 58 = %0 431 100 K
H{fiNo £ G R % B = B I B &® % & =
* 1|3 EEXE SH4FEIRFHE 0.310 A 22,155 6,868
* 25| IUMBEE T SHAFEIRFHE 0.310 A 23,310 7,226

100058 #t & MNEEREIIHTHENE 8.000 % 14,094 1,128

A - 4B 8K LU E 15,222
= {iff 1.0 KLY 152
BiORNFTHEEDEE 141
HilORAEBEMEDOEEE 0
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H{fiNo £ G R % B = B I B &® % & =
* 1|3 EEXE SH4FEIRFHE 0.350 A 22,155 7,754
* 25| IUMBEE T SHAFEIRFHE 0.350 A 23,310 8,159

100058 #t & MNEEREIIHTHENE 8.000 % 15,913 1,273

i A - 4B 8K LU E 17,186
= {iff 1.0 KLY 172
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* 1|3 EEXE SH4FEIRFHE 0.230 A 22,155 5,096
* 25| IUMBEE T SHAFEIRFHE 0.230 A 23,310 5,361

100058 #t & MNEEREIIHTHENE 9.000 % 10,457 941
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= {iff 1.0 KLY 114
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* 1|3 EEXE SH4FEIRFHE 0.260 A 22,155 5,760
* 25| IUMEPBE T SHAEIAFHE 0.260 A 23,310 6,061

100058 #t & MNEEREIIHTHENE 9.000 % 11,821 1,064

B A - 4B 8K LU E 12,885
= {iff 1.0 KLY 129
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* 1|3 EEXE SH4FEIRFHE 0.290 A 22,155 6,425
* 25| IUMBEE T SHAFEIRFHE 0.290 A 23,310 6,760

100058 #t & MNEEREIIHTHENE 9.000 % 13,185 1,187

i A - 4B 8K LU E 14,372
= {iff 1.0 KLY 144
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1% EEXE SH4FEIRFHE 4.100 A 22,155 90,836
* kE2ZIES=] SHAFEIRFHE 4.700 A 22,155 104,129
100058 #t & MNEEREIIHTHENE 2.000 % 104,129 2,083
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6372| (%12 16cmBl E22emakiE (WLAKELRE T) 1.000 PN 202 202
6377 4% L 16cm Bl E220makid (LIAKESEET) 1.000 N 137 137
6382 E ] 16cm Bl b 220mskiE (LIAKRLRET) 1.000 7N 114 114
i A - 4B 8K LU E 453
= {iff 1.0 KLY 453
BlDORNFHEEDELE 423
BilDQABRMEDOEEE 0

ELED




B i =X

7017 |{&4E1-#$h - EU] | EILHFMEEE KE
o [ rJavy H+2J7J0vH FpA:=Ei
22cmpl E28cmEk i (LLUMELEST) = %0 58 =% 431 1 &
B {fiNo £ g1 R 1% B = B4 B & E] & =
6373 | {3 1Z! 220mlE28cmEE (LLIAKESRET) 1.000 N 251 251
63781 22cmil E28cmE# (LIAERET) 1.000 N 152 152
6383| E L] 22cmbl E28cma i (LLAKELRE T) 1.000 N 129 129
g BA 4B R L E 532
! i 1.0 KLY 532
BlDORNFHEEDELE 495
BilDQABRMEDOEEE 0

ELED




B | =
7018 |{L M-t $h - EU] EILHFMEEE KE
1—FMNo |(#&i&) A J0Ovy H+2J7J0v5 FpA:=Ei
28cmPl b (LU#ELEFT) = %0 58 =50 431 1K

B {fiNo £ G R % B = B B & ] & =

6374 | {& £l 28cml £ (LUAAFPEET) 1.000 X 304 304

6379 |4 L 28cmil b (LUARELEFT) 1.000 ZiN 172 172

6384| E 1] 28cmilt (LUAAEPBET) 1.000 X 144 144

i A - 4B 8K LU E 620

= {iff 1.0 KLY 620

BlDORNFHEEDELE 577

BilDQABRMEDOEEE 0

ELED




B | =
7019 |F0—549L—2 &z | EHEMEEE AE
31—FNo | (#8:1&) AJavy H+2J7J0vH YER BT
LhE RS IR AE 1 R4t F = A&l 58 = Al 431 14.7 m3
B {fiNo £ G R % B = B B & ] & =
13 B8R F (FF5%) SHAEIAPE 1.000 A 22,785 22,785(670/110=6.09
9|8  H 19.000 L 142 2.698/|0.076%42%6.1=19.47
3036|yO—5 UL —iaH SHIERHEY 78 4.9t5H 1.000 = 16,300 16,300
3032|714 v —EvaiEH 12mm * 9 * 1.8m 1.000 = 67 67
25| UMD EE T SH4FEIRFHE 1.000 A 23,310 23,310
i A - 4B 8K LU E 65,160
= {iff 1.0 m3&Y) 4433
BlDORNFHEEDELE 3,136
BilDQABRMEDOEEE 0

BEE] Sy IL— 1S -UEEEER




B | =
7020 |12 & L E ) (9n-59L -5 )| BEIHEMEEE KE
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
0.6m3 (1L1) = %0 58 = %0 431 1 m3

B {fiNo £ G R % B = B B & ] & =

5806 [)L—X A B BB +-#htE+ - BB 1 |0.8BH JL—X LithsA LA SERIT 1.000 m3 377 377

7019/ 0—5 9L — &R ARSI RIS S 1 R4UR 1.000 m3 4,433 4,433

4463|322/ \FEE T (l1)  |60~80kg 1.000 m3 1,412 1,412

i A - 4B 8K LU E 6,222

= {iff 1.0 m3&Y) 6,222

BEONFBEEDELE 4,627

BilDQABRMEDOEEE 0

ELED




B i =X

7021 |12 R L E &) (9n—59L -5 )| BEIHEMEEE KE
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
0.6m3 (1L1) = %0 58 = %0 431 1 m3

B {fiNo £ G R % B = B B £ B & =

5806 [)L—X A B BB +-#htE+ - BB 1 |0.8BH JL—X LithsA LA SERIT 1.000 m3 377 377

7019/ 0—5 9L — &R ARSI RIS S 1 R4UR 1.000 m3 4,433 4,433

i A - 4B 8K LU E 4,810

= {iff 1.0 m3&Y) 4,810

BEONFBEEDELE 3,263

BilDQABRMEDOEEE 0

ELED




B i =X

7022 |V B—59L—iBEL EILHFMEEE KE
1—FNo |(#&1&E) Aoy H+2J7J0v5 FpA:=Ei
LhE RS IR AE 1 R4t F = %0 58 =% 431 1 B
B {fiNo £ g1 R % B = B B & ] & =
13 B8R F (FF5%) SHA4FEIAFE 0.160 A 22,785 3,646(1/(670/110)=0.16
9|8  H 3.200 L 142 454(0.076%42=3.19
3037|ya—5 UL —2iaH SHIERHEY 78 4.9t5H 1.000| F§fE 3,400 3,400

i A - 4B 8K LU E 7,500
= {iff 1.0 FFRE Y 7,500
BlDORNFHEEDELE 3,646
BilDQABRMEDOEEE 0

ELED




B i =X

7023 %% HE T (#225cm) | EILHGMEEE AE
1—FNo |(#&&) AJavy H+2J7J0vH YER BT
y0=79b-sEFH  IUAMELEE T = %0 58 = %0 431 1 m2
B {fiNo £ G R % B = B B & ] & =
3839|FFE A $#E25¢cm 1.000 m?2 0 0| IR IR ER
3819(Ea /N E S 0.090 m3 22,900 2,061]/0.08 X 1.12=0.09
556|FE B IE{LE —— L& (VU) IE4%50 D60 X t1.8mm 0.090 m 170 15
7022(90—5 9L — 8L ClE ARSI RIS S 1 RAR 0.300| FE:fE 7,500 2,250
1 I SHAFEIRFHE 0.140 A 26,040 3,646(0.09+0.05
24| T R— AR EE% SHAEIAFHE 0.020 A 24,360 487
25| IU#MADEE T SH4FEIRFHE 0.190 A 23,310 4,429].. S
25| UM AR T n$u4£ﬁ3ﬁ]*“* 0.250 A 23,310 5,828 Erﬁm*ﬁ'y
i A - 4B 8K LU E 18,716
= {iff 1.0 m2&Y) 18,716
BlDORNFHEEDELE 15,484
BilDQABRMEDOEEE 2,076

ELED




B | =
7024 |V B—59L—iBEL EILHFMEEE KE
1—FMNo |(#&i&) Aoy H+2J7J0v5 FpA:=Ei
LhE RS IR AE 1 R4t F = A&l 58 = Al 431 1 H
B {fiNo £ g1 R % B = B B & ] & =
13 B8R F (FF5%) SHA4FEIAFE 1.000 A 22,785 22,785(670/110=6.1
9|8  H 19.000 L 142 2.698/|0.076%42%6.1=19.47
3036|yO—5 UL —iaH SHIERHEY 78 4.9t5H 1.000 = 16,300 16,300
i A - 4B 8K LU E 41,783
= {iff 1.0 H&Y 41,783
BlDORNFHEEDELE 22,785
BilDQABRMEDOEEE 0

ELED




I/ N\vr— BlETE

WL/ N —> 2 e S A BixES J1—F No.
A JL—X)(BHO.10m3 1 fb) m3 1,594.70 1,549.00 8005|#& T /%\-007-5
EEXS
T8 T
EILES INRIBGGZEE LAY
¥H# REIEES B HAB =0
K ) *EN: & 23.01
K1 INBL R iR (D O—58)) (2R - B A AR SRE (F2 0 #(E) ]  1UFEO0.13m3 (FF50.10m3) 23.01 6’1 10 6,1 10
K2 - -
K3 - -
R(557%) 69.05
R1 EERTF (455%) 69.05 24,200 21,700
R2 - -
R3 - -
R4 - -
Z(F %) 7.94
Z1 #H 1. 25 /\bO—)LEGH 7.94 116 133
Z2 - -
Z3 - -
Z4 - -
S(h 35 i i) - -
HER
mamE = o xR M o e e
P e T e
P e e T Y T I X T X g —f3— =
+ 17070 8 + 100 — 23.01 — 6190.((115 7.94 0.00 ]
EEEM = 1549.00

38 4k 4sEB A LLE




I/ N\vr— BlETE

WL/ N —> 2 A S A BRES 1—F No.
— AR R B8R AR - AR RS M) (L) m2 8,607.20 8,440.00 8042|He L /%-139-1
EEXS
R iE%E — AR R4
BEYDIESE B -BHEEY
B REIEES FERLE FEE =0
K *EN: & 0.00
K1 - -
K2 - -
K3 - —
R(557%) 100.00
R1 Bh<I 47.45 26,000 22,900
R2 ILARED[E T 24.97 21,500 22,200
R3 T AR—AGHEER 8.89 24,700 23,200
R4 - _
VACOESY 0.00
Z1 - -
Z2 - -
Z3 - -
Z4 - —
S(h 35 i i) - -
HER
WEME = 860720 x [ — o x o = x o = x 0 - 000 - _
S ] Rkl Rl Al B B B3
i e e B e e T L =
+ 17070 x 8 + 100 — 0.00 — 1(1)8(?0 — 0.00 0.00 ]

EEEE = 844000

38 4k 4sEB A LLE




I/ N\vr— BlETE

WL/ N —> 2 A S A BRES 1—F No.
— AR EI R ONEIEE YD) (L) m2 7,775.20 7,689.00 8043|FE T/ %-139-2
EEXS
R iE%E — R EI
BEYDIESE INYEEEY
B REIEES FERLE FEE =0
K ) *EN: & 0.00
K1 - -
K2 - -
K3 - -
R(557%) 100.00
R1 Bh<{T 45.16 26,000 22,900
R2 ILARED[E T 30.69 21,500 22,200
R3 T AR—AGHEER 11.11 24,700 23,200
R4 - -
Z(F %) 0.00
Z1 - -
72 - -
Z3 - -
74 - -
S(h 35 i i) - -
HER
WEMME = 777520 x [ — o x o = x o = x 0 - 000 - _
+ o T T oo~ N T oo < D T oo MENESEN 0 [SNIENN - METNSN -+ BRSNS
i e e T e T i R e e -
+ 17070 x g + 100 — 0.00 — 1(1)8.(?0 — 0.00 0.00 ]

EEEE = 7,689.00

38 4k 4sEB A LLE




